Nazwa: N
Typ: Nawiewny
Opis: nawierny

N - Nawiewny

Sys.| N Szt. Typ Nazwa Wymiar Materialf Kolor] Pow. [m2] Pow. caik. [m
Kratka
N |1 1 RG1*+SV+DA wentylacyjna | L= 150 H= 100 stal
prostokitne
Symetryczne
N |2 1 RS przegcie a= 1000 b= 150 d= 100 g= 4D I= 1}f0 ocynk 0,09 0,09
koto/prostolgt
N |3 1 TUBE* Przewod okagly [ d1= 10C| 11 = 555(C ocynk 1,74 1,74
Nfa| 1 BSE Kolano ~ofa= 90| r= 1| di= 10p ocynk 0,07 0,07
segmentow
N |5 1 TUBE* Przewod okegty | d1= 10c[11= 58C ocynk 0,1¢ 0,1¢
N 6| 1 USE Redukcja | 41 _ 500 d2= 10d 11= 200 ocynk 0,18 0,18
symetryczn
N |7 1 MFA Ztaczka mufow: | d1 = 20C ocynk 0,0€ 0,0€
Trojnik
N8| 2 TC1* SYMEWYCZY 2 | 41 = 200 11= 5000 a= 100 b= 300 e= 50 ocynk 0,40 0,81
odejciem
prostokat.
N |9 1 TUBE* Przewdd okigly | d1= 20C| 11 = 120( ocynk 0,7t 0,75
N |10 1 TUBE* Przewod okagly [ d1= 20C| 11 = 100(C ocynk 0,6 0,63
N [11] 1 USE Redukela | 41 = 259 d2= 20q 11= o ocynk 0,17 0,17
symetryczn
N |12 2 MFA Ztaczka mufow: [ d1 = 25C ocynk 0,11 0,21
Trojnik
N [13] 1 TC1* SYmeyeznyz | g1 = 250 11= 500 a= 100 b= 300 e= %0 ocynk 0,53 0,53
odejciem
prostolat.
N |14 1 TUBE* Przewod okagly [ d1 = 25C| 11 = 30C ocynk 0,24 0,24
N [15] 2 BSE Kolano ~ofa= gof r= 1| di= 250 ocynk 0,46 0,92
segmentow
N |16 1 TUBE* Przewdd okigly | d1= 25C| 11 = 80C ocynk 0,6 0,6
N [17] 1 cs1* Tumik kanalowy)  _ = 550 = gog ocynk
okragly
Kratka
N |18 3 RG1*+SV+DA wentylacyjna | L= 300 H= 100 stal
prostokitne
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N - Nawiewny

Typ Nazwa Wymiar Pow. [m2] Pow. caik. [m
USE Redukcja 9 0,17 0,17
symetryczn
MFA Ztaczka mufow: 0,11 0,11
CEC* Okragty kréciec
elastyczny
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N - Nawiewny
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N - Nawiewny

Produceni Uwadgi
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